lakhs + 93 thousands + 265

crores + 29 lakhs + 32
formed by putting two
one on the other as shown
g
t_-#’..l ! y

| _return th to equal e
B oy (c

3.

Ifﬂle-ﬁq

ares is 8 cm, then the penm ter
?e formed figure is
a) 56 cm
) 32cm

(b) 64 em
(d) 48 cm

If one-third of y is subtracted froms

its half find the result.

= 8
(a) 5 (b) =

Y 2y
(c) 5 (d)
Add E and §—

5 7

21 31
(a) "2—9* (b) .3_7_
© 29

o

(d) 37

k.
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MOCK TEST-3

@ | 11 [ @) | 91

ANSWERS KEY

(b) 31 (b) 41

(d) 12 (b) 292

(b) 32 (b) 42

() | 18 | (b) | 23

(b) 33 (a) 43 (d)

- 3
4 (e) 14 (d) 24

(c) 34 (a) 44 (d)

B (¢) 15 (c) 25

(c) 35 (b) 45 (d)

(b) 16 (b) | 26

(b) 36 (a) 46 (d)

(a) 37 (c) 47 (c)

(a) 18 (e) 28

(b) 38 (c) 48 (b)

5
6
7 (a) 17 (a) 27
8
9

(d) 19 (c) 29

(a) 39 (b) 49 (d)

10 (c) 20 (e) 30

(d) 40 (c) 50 (¢)

1. (d) 123 millions — 67,735
= 122 millions + 932 thousands

+ 265
= 12 crores + 29 lakhs + 32
thousands + 265.

2. (d) 8 cm

8 cm 8 cm

8 ¢cm 8 cm

8 cm

. Perimeter of the figure formed
-8+8+8+8+8+8=48cm.

1 1
3. (c) Required result = 9y 37

e
3y
Bl 2T 14
% (0 2 5 77 35

3 \3x5 15
?—7x5_£
. g__§:E_+15:14+15=§
= BT rpd SR ash 30 35 °

. (¢) L.CM. x,y,2z)=2z.

(b) The pattern in the series is —5
1. e.
>, G R [ bl g 0 L

L _J TS
5 -5 =5 =5meay

D should be in place of C.

(a) Riya spent = 334.60
Money left with her

=%100.00
-334.60
365.40

(a) Area of shaded portion
=]x%b
=6 x 2=12cm?

(d) Time for the next flight
=10:45-00.25+5:00
=15 : 20 hours
=15:20-12:00 =3 : 20 pm.
Earlier flight took off at 10.45

— 95 minutes = 3 : 20 pm.




AL LC) X 1111
» C g omniati k2

’TPWTWQ
i 'ﬁlED m-—20s (
TIR (c)Cbstoﬂwérenm
Costofcheeolate-rﬂ

=3:2 =231 4, b o
eral triangle Total money Rani hadarﬁ 50 b
Money spent =3¥31 -,_
24 Money left =348.50 - ?31
~.Perimeter of square = 24 cm =%17.50 30
R . Thus, 317:60 is left with her.
 Side of square = Pe“’:eter 16. (b) Rehan\gﬁhml =2195)
2 | N 2
- 24 Rehana’s share = — x 3600
L LA = —=6cm 5
e L SR ‘ = 3240
ik .. The area of square = (Side)? S 3
t.’ =6 x 6 = 36 cm? Rashmi’s share = — x 2600
-ﬁmmwm of property by ¥x - ?53 -
then Ex x = 15000 17. (a) The distance from Nandini’s
hen - s
; 5 Do) house to her school = "l'akm
g _5000 3 5@ The distance that Nandini traveled
: 1 .
; | by bus = Ekm
i'f:"" 1 .. The distance that Nandini
bx —x%@ %12500 9 1
o -k walked far= ———
13. (b) 107 %

14. (d) Length ofland = 15 m
Breadth of land = 10 m
Area of the land
= Length b4 Breadm
= (150 x 10) sq. m =150 sq. m
rea of 1 square ﬂower bed




i ﬂ."

R 505
18. (© 12; g.OO
30
2 4
6 0
6 0
x
i, — 0.5
TN
19. (e) (1) : Distance = Speed x Time
_ =952 % 3 =156 km
(11) : Distance = Speed x Time
=58x3=174 km

20. (¢) 3
21. (b) Let the angle be x.

Then supplementary angle .
=180 —x

Given X = %(180 —X)

hx = 4(180 —x)
bx = 720 —4x
hx +4x =T20
9x = 720
720
e
922. (b) Ratio of Parul’s age to Priyam’s

age=9:15
= —9-‘ = *?i =3: 5

15 .5 :
So, mother will divide %56 1n

the ratioof 3: 5

3
Parulwillgetzig x 56 = T21
(as3+5=8)

' Priyam will get = 56 — 321
=35

23. (b) Only (3)is correct. Everj* square

1s a rhombus but it is not
necessary that every rhombus
will be a square.

24. (c) Possible combinations of (A, B)

such that AB = 64 are
(1, 64), (2, 32), (4, 16) and (8, 8)
. A + B cannot be 35.

25 (e b is Bubtracted o 10,
26. (b) Since AB || €D

ZFCD = 2ABF = 45°
[alternate angles]
In AFEBD,

#FCD + «CDF + 2CFD
< A480°

[Angle sum property]
45° + «FDC + 110° = 180°
2FDC + 155° = 180°
+2FDC =180° — 155° = 25°

27. (a) Distance travelled by bus

=16.520 km

Distance travelled by auto

=31.460 km

Distance walked = 1.450 km

Total distance

= 16.520 km + 31.460 km
+1.450 km

=49.430 km
So, Samson covered 49.430 km in
total.

28. (b) Petrol filled on Monday

= 40 litres

Petrol filled the next day = 50
litres

Total petrol filled on the two
days

— 40 litres + 50 litres = 90 litres
Cost of petrol per litre =344



. Cost of 90 litres petrol
29. tﬁ)ﬂi‘h?cost of 1 kg of wheat
1756

=00 - %3.512.
Hence, the cost of 125 kg of
wheat
=125 x 3.512 =439

30. (d) Weight of tablets = 2,00,000
Weight of 1 tablet = 20 mg
Weight of 2,00,000 tablets
= 2,00,000 x 20 mg
=40,00,000 mg
Weight in gm

i 40,00,000
= 1000

gm = 4000 gm

4000

Weight in kg = Tﬁo_okg =4kg

31. (b) Group the positive and the
negative integers together,
(=30) + (-20) + (-63) + (+75) +

(65)

=(-113) + (140)
=(140-113) =27

32. (b) Let the second term of the
proportion be x then
18 :x:: QW56
18 x 36 x 27
(Product of extremes = Product
of mean)
18x36

27
24=x
Thus, second term of the
proportionis24.
33. (a) X has both horizontal and
vertical lines of symmetry.

X

34. (a) Number of Bqual‘eﬁ-illthe’shaded

35.

36.
37.

38.

39.

40.

portion = 15
Number of squares in the
unshaded portion= 33

So, the ratio of the shad portion
to the unshaded portioe;l1 :
= 15834

1577 5X 3 B eyt
=33 %3911 @ &

(b) Since AB is a straight line,
ZAOC + ZCOE + ZEOB = 180°
50° +a +30°=180°
a + 80°.=180°
a = 100°
b =ZEOB [vert.opp. angles]

= 30°
Za—-/b=100°-30°
=T0°

(a)

. (¢) Let the length of the journey be

x km.

Then,
X X 11
45 60 2
- 4x—-3x 11
180 2

=

11x180
><2 =900 ¥in

(¢) Wash room is in the form of 2
square. -

.. Perimeter=4 x 3=12m

(b) Bed room is in form of 2
rectangle.

. Area =9 x 11 = 99 m2.

(¢) Lawn is in the form of 2
semicircle.

=P =



r HBXDI1d]
.

' "Pﬂam:téroflawn

= circumference of semicircle
= %E= B -2—2—X4=§§-
7 7
=12.5m
40 2| 48
220 21
2110 212
_5—_5_ 2 T
1 3 3
1
845
3[15_
Py
1

=2 x2x2xb

48=2x2x2x2x3

45=38 x3 x5

L.C.M. of (40, 48, 45)
=2x2x2x2x3x3x5
=/720.

42, (c) Area of rectangle I

=(2x1)sq.cm
Length of rectangle 11
=(4+1)cm=5cm
Breadthofrectangle II = 3 cm
Therefore, area of rectangle 11
=5 x 3 sq. cm
=15 sq. cm
Area of rectangle I1I
= (4 x 2) sq. cm
= 8 sq. cm
Area of rectangle IV
=(3 x 1) sq.cm
= 3 sq. cm
Thus, area of given figure

— Area I + Area II + Area 111
+ Area IV

1.}

25
=2+15+8 +3sq.cm
=28 8q. cm.
43. (d) Since 21 + 3 = 7, so multiply
numerator and denominator of

b
4 3
3 3x7 21

4 4x7 > 28
Therefore, the required number
is 28.

44, (d) A—(ii); Bo(iv); C— (1); D — (i)

N

45. (d) \
s
p.< //: B\ >R
110°
e

Since PR || QS
+MAB = /ADC
(Corresponding angles)
,ADQ + ,ADC = 180° (Linear
pair)
,ADC =180°-110° = 70°
/MAB = ZADC = 70°
Za="T0°
/ABC = ZNBR = 100°
(Vertically opposite angles)
Since PR || QS,
,BCS = ,ABC (Alternate
angles)
b =100°
mZa+m2zb="T70°+100°=170°
46. (d) Height of electric pole : length
of its shadow
. - Height of tree : length of its
shadow







